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Priklad 1

Planety na seba navzijom pdsobia gravitatnymi silami. Situdcia je zjavne uplne stredovo simerna, takze
mozeme spocitat, aka sila posobi na Iubovolnu z nich.

Protilahla planéta sa nachadza vo vzdialenosti 2R, preto posobi silou velkosti F; = (:;';. Prilahle planéty sa

nachddzaja vo vzdialenosti 1/2R, preto budi pésobit silami velkosti F, = ?T” Zo symetrie ulohy je zrejme,
ze vyslednica sil od dvoch prilahlych planét bude smerovat do stredu, preto si ich rozlozme do dostredneho

smeru a smeru nan kolmého. Kolmeé zlozky sa vybiju a preziji iba dostredne zlozky :}gFg.

Vysledna sila pésobiaca na planétu teda bude
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Této sila sposobuje pohyb po kruznici, ¢ize je dostredivou silou F = maw’R. Z rovnosti dostredivej a vyslednej

gravitacnej sily dostavame w = (i + T!‘E) % Z definicie uhlovej rychlosti w = l—r" dopocitame periadu

obehu planet
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Priklad 2

Priklad 3

If the number of point is IV, then we have two points (IN and OUT) that are con-
nected directly. Then we also have N —2 points that are connected to the IN and OUT
points and all imterconnected among themselves.
due to symmetry.

Since all resistors are the
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So our equivalent elec-

same, all the N — 2 points
have same potential, and
tric configuration is (N — 2 parallel resistors in series with N — 2 parallel resistors)

can be connected into one
point. In other words, there
13 no current fowing be-
tween these middle points

in parallel with one resistor.
If the number of points 1s N the resistance between any two points is then

1 N—2Y" 2
| = 2= = -
(-r 2r ) A‘r?




Priklad 4

The linearity of Maxwell's equations allows us to find the magnetic field as a sum of two

magnetic felds produced by two currents: A current with density

: (1)

Jh = TR —aZ)
carried by the eylinder of radius b and a current with density

.?-u = _'.}fl-.’.l [2}

carried by a cylinder of radius a. The sum of these two currents gives the current distribution
in the considered structure. From Ampere’s circuital law § H - dl = t—r ['j - dS one finds that
the current carried by the cylinder of radius b produces a magnetic field at the center of the

HIJ = 2d ] [3}
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hole

while the current carried by the cylinder of radius o produces no magnetic field at the center
of the hole, H, = (0. Therefore, the magnetic field at the center of the hole is
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Priklad 5
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